BEET “EHRERENK AB B (EEES)

TEE(E : 2025401 8 ~20254£04 A DS
1 ZEREFESELERR
BRIy O | 2007t | s [0 [0
. . 5
LA REH | REEH REE®K 10 8 6 8 7
20255 682 7 9 572 A 100 80 60 80 70
2024% 671 8 8 547 ECET 696 673 683 663 675
EREK 11 - 1 25 A 100 97 98 95 97
IEEES 16% —125%| 12.5% 4.6%
MAB B RIEE L3 E2 A — REOERA (4) #p&E FF BB {1
XEEM. AEERI_HERSTOREY. BEER B [FEmE] ek [Thal| BRE
1 HE) 19 52 36.5%
(2) E-BEEDOFERHR 2 X B 16 38 42.1%
20214 | 2022% | 2023% [ 2024% | 2025% 3 R 10 48 20.8%
REEH 6 6 6 8 9 4 B E 9 41 22.0%
EES 146%| 16.2%| 21.4%| 33.3% 22.0% 5 F &= 8 44 18.2%
BEEN 598 575 591 547 572 cERE 125 810 15.4%
EES 9.7% 9.4% 9.1% 8.9% 9.7%

2 “HEEHOBFEH(ASER)
(1) ZSHBOER GEEER)
EE | FTZEE | R |hnotezs| SEEr | &5t

BH_= 75 61 47 162 5 350
BT 5 -4 20 -10 2 13
— R IR A 18 34 28 151 231
BT 1 6 2 4 0 13
&5t 93 95 75 313 5 581
BT 6 2 22 -6 2 26

R 16.0% 16.4% 12.9% 53.9% 0.9%| 100.0%

(2 Z#wmB ORI GEEER

0~2 2~4 4~6 6~8 8~10 [ 10~12 | 12~14| 14~16 | 16~18 | 18~20 | 20~22 | 22~24 | &Ft = &

BZE 1 2 9 53 30 34 33 43 43 62 28 12 350 212 138
RIS -7 1 0 6 -12 2 13 13 -14 7 5 -1 13 6 7
—HEJR 1] 3 3 5 18 26 24 25 24 35 50 12 6 231 130 101
HIEL 2 1 4 -8 -2 -1 0 11 -4 5 3 2 13 2 11
At 4 5 14 A 56 58 58 67 78 112 40 18 581 342 239
RIS -5 2 4 -2 -14 1 13 24 -18 12 8 1 26 8 18
B 0.7% 0.9% 2.4% 12.2% 9.6% 10.0% 10.0% 11.5% 13.4% 19.3% 6.9% 3.1%[ 100.0% 58.9% 41.1%




Q) ZHWMENER A GELEEE)
— | 2E |,

i

B

Bk

ae | B | me |20 ra | | ik | 1ol | mr | TOt [REGL|sEuT| e
B_= 3 3 26 1 5 54 1 81 160 16 350
BIELL -3 0 1 -9 0 -2 3 —24 0 8 37 2 13
— & [ 1] 1 2 24 1 1 3 44 57 96 2 231
AT LE 1 0 1 -3 -1 0 1 -12 0 9 15 2 13
&t 4 0 5 50 1 2 8 98 1 138 256 18 581
AT LE -2 0 2 -12 -1 -2 4 -36 0 17 52 4 26
R 0.7% 0.0% 0.9% 8.6% 0.2% 0.3% 14%| 16.9% 0.2%| 238%| 441% 3.1%| 100.0%
@) ZHEBEOFHERN GEEEL
CEb o tiE] et |~ | Bt | somic | somit |eo~eu | mmE | A
BH_= 14 13 37 64 28 54 72 86 27 19 350
BIE L -3 6 2 6 14 -6 —12 -9 18 12 = 13
— R R 1] 5 10 22 37 25 25 44 49 20 31 231
BT 0 -1 7 -2 4 8 -9 -9 13 0 6 13
&t 0 19 23 59 101 53 79 116 135 47 50 581
AL -3 5 9 4 18 2 21 -18 31 12 5 26
e 0.0% 3.3% 40%  102%| 17.4% 9.1%| 13.6% 20.0% 23.2% 8.1% 8.6%| 100.0%
(5) ZERE DIBGE LRI (FEIEE )
] ZEER EBER B8 Ffg &R REER SH | E-HER| o | &5t
AE 1 20 13 100 66 5 6 236 134 581
S 0.2% 3.4% 22%  17.2%] 11.4% 0.9% 1.0%| 406%| 23.1%] 100.0%
(6) ZEREDANILAVRE R (FEIEEE) (N ZWHEBEOITOTI4—ERI GEEELR
7 F ssp | AR | ast &R | FEM [ERTH][3LUT| &
BERE [ BERmREEL [BERIAEA] /NEt = R = AN 38 466 59 18 581
AEL 57 510 9 576 4 1 581 EES 6.5% 80.2%| 10.2% 3.1%| 100.0%
S 9.8% 87.8% 15% 99.1% 0.7% 0.2%| 100.0%




